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1. The number of zeroes at the end of

21 × 35 × 625 × 8 × 165 is :

21 × 35 × 625 × 8 × 165 ds var esa 'kwU;ksa dh
la[;k gS %
(a) 1 (b) 3

(c) 5 (d) 7

2. The number of zeroes at the end of

25 × 35 × 40 × 50 × 60 × 65 is :

25 × 35 × 40 × 50 × 60 × 65 ds var esa 'kwU;ksa
dh la[;k gS %
(a) 6 (b) 8

(c) 5 (d) 7

3. The number of zeroes at the end of

1003 × 1001 × 999 × ....... × 123 is :

1003 × 1001 × 999 × ....... × 123 ds var esa
'kwU;ksa dh la[;k gS %
(a) 224 (b) 217

(c) 0 (d) 212

4. The number 1, 2, 3, 4, ........ 1000 are
multipled together. The number of zeros
at the end (on the right) of the product
must be :

la[;kvksa 1] 2] 3] 4 -----------1000 dks ,d lkFk xquk
fd;k tkrk gSA xq.kuiQy ds var (nkfguh vksj) esa
'kwU;ksa dh la[;k gS %
(a) 30

(b) 200

(c) 211

(d) 249

5. Find the number of zeros at the end of
the product of following expression.

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A
241! × 25 × 24 × 35 × 12

(a) 61 (b) 58

(c) 63 (d) 66

6. Find the number of zeros at the end of

the product of expression

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A
1532! × 481! × 34!

(a) 499 (b) 431

(c) 506 (d) 388

NUMBER SYSTEM
(NO. OF ZEROS AT THE END OF AN EXPRESSION)

7. Find the number of zeros at the end of

the product of expression

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A

11 × 22× 33 × 44 × ..........× 4949

(a) 100 (b) 150

(c) 200 (d) 250

8. Find the number of zeros at the end of

the product of expression

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A
11! × 22! × 33! × 44! × ..........× 4949!

(a) 2! + 4! + 8! (b) 2! + 5!

(c) 5! + 10! (d) 2! + 4! + 8! + 10!

9. Find the number of zeros at the end of

the product of expression

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A
1001 × 992× 983 × 974 × ..........× 1100

(a) 5050 (b) 970

(c) 1124 (d) 2524

10. Find the Number of zeros at the end of

the expression

fuEufyf[kr O;atd ds var esa 'kwU;ksa dh la[;k Kkr
dhft,A
10 + 100 + 1000 + .........10000000.

(a) 1 (b) 10

(c) 55 (d) 10000000

11. Find the number of zeros at the end of
the product of expression is :

fuEufyf[kr O;atd ds xq.kuiQy ds var esa 'kwU;ksa dh
la[;k Kkr dhft,A
10 × 100 × 1000 × ......... × 10000000000

(a) 10 (b) 50

(c) 55 (d) 100

12. Find the number of zeros at the end of
the following expression

fuEufyf[kr O;atd ds var esa 'kwU;ksa dh la[;k Kkr
dhft,A
(5!)5! + (20!)20! + (50!)50! + (100!)100!

(a) 120 (b) 165

(c) 500 (d) 1025
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13. Find the number of zeros at the end of
the following expression

fuEufyf[kr O;atd ds var esa 'kwU;ksa dh la[;k Kkr
dhft,A
1! × 2! × 3! × 4! × 5! × ......... × 25!

(a) 46

(b) 100

(c) 12

(d) 56

14. Find the maximum value of n such that

3500! is perfectly divisible by 40n.

n dk og vf/dre eku Kkr dhft, ftlls 3500!,

40n  ls iw.kZr% foHkDr gks tk,A
(a) 874

(b) 1164

(c) 3493

(d) None of these

15. Find the heightst power of 63 which can

exactly divide 5335!

63 dh og vf/dre ?kkr Kkr dhft, tks 5335!

dks iw.kZr% foHkkftr djsA
(a) 887

(b) 1331

(c) 2662

(d) None of these

16. Find the maximum value of n such that

50! is perfectly divisible by 12600n.

n dk og vf/dre eku Kkr dhft, ftlls 50!,

12600n ls iw.kZr% foHkDr gks tk,A
(a) 5

(b) 6

(c) 7

(d) 8

Answer Key

1.(b) 2.(a) 3.(c) 4.(d) 5.(a) 6.(c) 7.(d) 8.(a) 9.(c) 10.(a)

11.(c) 12.(a) 13.(d) 14.(b) 15.(a) 16.(b)
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